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10.

()

2009 2007

(A) (410)16 (B) (BEO)1s

(A)
(B)
(©)
(D)

2008

(A) Excel (B) Exe2bin

(A)

(B)

(A) SOHO
(B) RFID
(C) FOXY
(D) VOD

(A)
(B)
(©)
(D)

(A)
(©)

(A)
(B)
(©)

BBS
CD

87654321
M123456789

COM port
POST
IDE

(D) DV DVi

(A)
(©)

(A)
(©)

CPU

RAID
USB

(C) (3040 )16 (D) (4016 )16

(C) Expand (D) Explorer

(©)

(B)
(D)

(B)
(D)

(B)
(D)

(D)

MyJolin
DrOwSs@P

7200 RPM
500 GB
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

(A)
(B)
(©)

(D) LCD

Windows XP
(A)
(€)

Windows XP

(A) Ctrl+ Alt+ Del (B) Ctrl+Alt+Tab

Windows XP
(A)!

(B) -
SNG

(A) (B)

(locathost )

(A)0.0.0.1 (B) 127.00:1

(A)
(B)
(C) USB
(D)

PS/2
LPT

Category(6

(A) Email
(C) Wikipedia

(A)
(©)
3C

(A) Crimes
(C) Communications

(A) (B)

Zai

(B)
(D)

(C) Ctrl+Shift+Del (D) Shift+Alt+Del

(OF (D) *

(©)

1P
(C) 224-0-0-1

(D)

(D) 255.0.0.1

(B) MSN
(D) FTP

(B)
(D)

(B) Computers
(D) Consumer electronics

(©) (D)

(

)



()

22. Visual Basic Commandl
Private Sub Commandl1_Click()
Dim Weight, Height As Integer
Weight = 65: Height = 170
BMI = Weight/(Height/100) "2
Print Mid(BMl, 1, 5)
End Sub
(A) 1.461 (B) 22.49 (C) 22.50 (D) 24.85
23. ( )Visual Basic )
(A) 4 (B)S (C) 6 (D)7
(/)
24.  ping Ab4 ()
(A) (B) IP 192.168.0.163
©) A63 TCRAP (D) AG3— IP 192.168.0.163
o CAWINDOWE wysem 30 e md e
*:\>hostname B
B4
:\>ping AB3 =
inging AB3 [192.168.0.163] with 32 bytes of data:
eply from 192.168.0.163: bytes=32 time<ims TTL=128
eply from 192.168.0.163: bytes=32 time<ims TTL=128
eply from 192.168.0.163: bytes=32 time<ims TTL=128
[ﬁ[( ) eply from 192.168.0.163: bytes=32 tilnleﬂnls TTL=128 =
= 4] 4

25. Microsoft Excel A2

(A) = IF (A2 >=120,"
(B) = IF (A2 >= 120, " ,
(C)=IF (A2>120,"
(D)= IF (A2>120," ,

120
A3



26.
(A)
27.

(A) Firefox

28.

(A) DHCP

29. Microsoft PowerPoint

(A)

30. 1TB
(A) 20

3. ()

(A)
(B)
(©)
(D)

32. Microsoft Word

(A)
(B)
©)
(D)

3. ()
(A)

()
34.

35.
(A)

( character)
(field)
(file)

(web browser)

(B) ERP

(B) Internet Explorer

500 MB
(B) 200

(record)
I e

(

)

©) (D)
(C) Netscape (D) Telnet
IP
(C) HL7 (D) SMTP
©) (D)
(C) 2000 (D) 20000
970001 80.01.01 01-23456789

HE

H16
(A) = @(H16 + 116 + H17 + 117)
(C)=H16 + 116 + H17 + 117

116

H17

117 _
(B)= @SUM(H16 117)
(D) = SUM(H16 116, H17
(©) (D)

117)



()

36.

(A) EIS (B) ERP
37. ISO

(A) I1SO 9000 (B) 1SO 14000
38.

(A) (B)
39.

(A) (B)
40.  Microsoft Outlook

(A) (B)
41.

(A) Database

42,
(A)

43.
(A)
(©)

44,

(B)/Data Mart

B)

(A) .avi
45,

(B) .mpg
RFID

(A)
(©)

46.

47.
(A)
(©)
48.
(A)

(PACS)

(C) MRI (D) SPSS
(ISMS)
(C) ISO 20000 (D) I1SO 27000
X

(©) (D)
(©) (D)
(®) (D)

(discover)
(C) Data Mining (D) Data Warehouse
©) (D)
(B) GOTO
(D)
(C) .wmf (D) .wmv
(B)
(D)

( time complexity )
(A) O(N?) > O(logN) > O(N)
(C) O(logN) > O(N?) > O(N)

(RSS)
(Viog)

IC
(B)

(B) O(N?) > O(N) > O(logN)
(D) O(N) > O(logN) > O(N?)

YouTube
(B) ( Instant Messenger )
(D) (VolP)
(®) (D)
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50. Microsoft Excel ()
[ & ||[EF=E]
A HI(C)
2EE | [HEreE — [ B |[5xz%]
PEEHE] g T 8 [ &= ]
FIR) EHD)
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